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Keller 1/
Haus:
GeschoR:
Wohnung:;

=

Wohnen;

Schiafen

Kiiche:

Bad/wec:

Flur;

Abstellraum:

Balkon:

Keller 1/14;

~aus:
Jeschol:
Nohnung:

Nohnen:

ichiafen 1-

chiafen 2:

fiche:

3d/WC:

urs

41
1. OG
62

4/2
1. OG

/

2,60 x 2,00 = 5,20 gm
"i:*’aigj@ :

(2 Zimmer, Kiche, Bad/WcC, Flur, Absteliraum, Balkon)

4,14 x 3,74

250x2,50%0,5

2,10x 0,34 :

(3,80 + 1,30) x 0,5 x 1,10 = 2213qm

4,14 x 3,40 ' = 14,08 gqm

2,20 x 3,00

0,60 x 0,50 = 6,30 gm

3,40x2,14 i

1,20 1,20x 0,5 = 8,00 gm

(4,30 +2,60) x 0,5 x 1 v

1,10x 2,20 = 8,28 qm

(1.40+0,80)x0,5%x06 ;

080x080x05 = 0,98 gm

2,50 x 4,40 :

(2,50 +1,20)x0,5x 1 2

1,20x1,20x 0,5 ) x0,5 = 6,97 gm
66,74 qm

1,00x2,00 |

(2,00 +0,50)x0,5%x1,5 = 3.88 gm

(3 Zimmer, Kiiche, Bad/WC, Flur, Abstel[raum 2 Balkone)

4,24 x 4,24
2,80 x 2,60

(2,30 +0,60) x 0,5 x 1.7

(2,30+1,20)x05x 1.0

3,80 x 0,34

(3,80 + 1,30) x 0,5 x 1,1 = 33.57qm

3,17 x 4,35 )
0,70x0,70x 0,5 = 13,54 qm

3,15 x 3,65
(1, 50 + 0,50) x 0,5 x 1,65
150x150x05 = 14,27 gm

2,80x210
(1,80 + 3,50) x 0,5 x 2,0 = 11,18qm

2,40x 2,55 ’
(2,40 + 1,00) x 0,50 x 1,30

8,33 qm

2,30 x 1,40
(2,50 +4,00)x0,5x 1.4

777 qm




